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Q—51 Four cubes, each of edge 5 cm are joined end to end. What is the total surface area (in sq.

of the resulting cuboid?
ggqi’ ggl I\%dllétl%ﬂ:ﬁ Oblkor) Obdlc{kdv \YIISI of[dl %I UROITH 99T P P USo
) RIT 67

(A)500 (B) 450 (C) 100 (D)600

Class Time :- 9:00 AM



http://www.mahendras.org/

/@ Watiendra’'s / / FOR MQRE DISCOUNT VISIT WWw.mahendras.org & USE PROMO CODE : E04613 /

: 1 1 1 1 1
Q-52. The Value of is ( 1+; )(1 + 1 )(1 + — )(1+ m) (1+m)

a+5

(A,  (Bats (O (D)1+——

a+5
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Q-53. What is the average of all multiples of 6 from 20 to 807?

20 I 80 TP 6 HHT TTULSH BT 3IRId T 87

(A) 51  (B)50 (C)48 (D)52
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cost ice of the article is ? 4‘%
%I ddd I N Id HJd

Q-54. The difference between theselling prices

3%

ofa |clesold a%‘y and 3% profitsis.Rs.3. The
iaﬁq Ilﬂgll S BT 3R

<

(A)400 (B)350 (C) 300

(D)100
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/Q-SS. A person marks his goods x% above the cost price and allows a discount of 30% on the N
marked price. If his profit is 5% then the value of x will be?

T R %&m&mw 3R 3ifhd Hed W 30% 1
Wﬁ%lﬁm aﬁ%%c%%x BT ¢ K

(A50  (B)60 (C) 45 (D)35
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/Q-56 . A purchased two articles for Rs.200 and Rs.300 respectively and sold at a gain of 5% and 10% )
respectively. What was his overall gain percentage?

%ﬁrﬂwl g»ciFIT‘J-ZIO% aﬁvsoowﬁﬁ@ﬂa"r 3R HHTT: 5% 3R 10% b ATH TR

(A5%  (B)10% (C)15% (D)8%
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Q-57. Find the area of largest circle inscribed in a square of side 133 cm.

133 THT YoT dTel ol H Gq §T Y ds I B &A% J1d Diforg|

(A) 13678.5cm? (B) 14328.5cm? (C)13898.5cm? (D)12659.5cm?
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Q-58 . Find the side of the square inscribed in a circle whose circumference is 374 cm? (Approx)

T g | 3ifpd otf Bt Yol J1d PifoTe forgept uifey 374 Tt 82 (@)

(A) 84cm (B)80cm (C)86cm (D)75cm
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Q-59. If simpleinterest on Rs. 800 increases by Rs. 40 when the rate increases by 4% per annum,
find the time.

% ﬂTlerRUTaIrGrs.soowﬁﬁaaaﬁmaaa?mqfaaﬁaamé,a‘rwm

A B ©f (11
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Q-60. If = of A=75% of B=0.60f C, then A : B: Cis equal to A

(A)9:8:10 (B) 8:9:10 (C)3:4:5 (D)4:3:5
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a

Q
X

/Z

Q-61. In given figure PA, QB and RC are perpendicular to side AC then.

R
y

A B

C

1 1_1
(A) 1+ =

1
V4

1 1 _
B) -3 =

1

Z

1 1
C) 2+ =

(D)x+y=2

Z
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Q-62. In AABC, AD is medianand G

ar(ABC) is equal to: AABC

is the point @n AD such th
%,ADHTF&IWg GAD R

ar(ABG): ar(ABC) aRk]dX &:

%tﬂé[%%%z%AG: GD=2:1.dI

\
2:1. Then ar(ABG):

(A)L:5 (B)1:4

(C)1:6

(D)1:3
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Q-63 . One of the factor of (82k+52k), where k is an odd number, is?

(82k+52K) o UM S H ¥ U, SgT k U fauH T2 5, 98 87

(A)89 (B)86 (C)13 (DY40
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Q-64. The cost price of an article is Rs. 425. A shopkeeper gives a discount of 20% and still gains
16%. What is the \{ﬁ% ce of the article? Udh d¥ I ghd HcU 425 I U %OI?I'-IQIQ
20% Pl gc qm %Wlﬁm%mwuumaﬂm%mﬁm

(A)6165  (B)616 (C) 616.25 (D)615
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7+8x8-+-80f8+8--8x4+-4
- ?
Q-65. The value Of4+4of4+4><4+4—4+40f2 IS¢

(A4  (B)78 (C)4.6 (D)8.7
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Q-66. In AABC, AB=7 cm, BC=10 cm, and AC=8 cm. If the angle bisector of £ BACis AD, where D
is the point on BC, then BD is equal to?

(A)% cm (B)lz5 cm (C)% cm (D)%cm
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Q-67. If the six digit number 6x2904 is divisible by 88, then the value of xis: A.5B.6 C. 7 D.

(A)S (B)6 ()7 (D)3
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11,1,
a b c

Q-68 .If (a+b) : (b+c): (c+a)=7:6:5and a + b + c =27, then what will be the value of

(A) 4:3:6 (B)3:2:4 (C) 3:4:2 (D)3:6:4
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Q-69 . What is the value of 30% of 40% of 48007

(A)576 (B)144 (C)288 (D)216
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Q-70. Find the median of 67, 34,57, 32, 12,92,51, 62,62,57,93 and 5?

(A)62 (B) 32 (C)56 (D)57
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Q-71. 12 monkeys can eat 12 bananas in 12 minutes. In how many minutes can 4 monkeys eat 4
bananas?

129X 12 e T 12 pa W Hd & | 4 R fhd fTFe § 4 A @ aRd &2

(A) 12 (B)10 (C)4 (D)8
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Q—72 Present ages of A and B are in the ratio 5: 6 respectively. After seven years this ratio becomes
6: 7, Then the present age of Ain yeas is:

E{&?EBH &nggﬂm 56m311u|dﬁ%|¥rraau‘fob S5 U8 3 UTd 6:7 BT ST g |
AP

(A)35 (B) 33 (C) 32 (D)30
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Q-73 An athlete runs an 800 m race in 96 seconds. His speed (in km / h) is:

TP QYT 96 T S H 800 HICX 1 &GI8 T vl g | SUD! 11 (fopHl/eT ®) :

(A)30 (B)20 (C)40 (D)25
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Q-74. Whﬁqs fourthp %ﬁportlonal to 189, %73 and 1537
189,273 153 &I

(A)117  (B)299 (C) 221 (D)187
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Q-75 What should be added in 3945 to make it perfect square?

3945 7 34 QU o] -1 o ot a1 SIiaT ST @mfgw?

(A)36  (B)16 (C)24 (D)43

Class Time :- 9:00 AM



http://www.mahendras.org/

FOR MQRE DISCOUNT VISIT www.mahend ras.org & USE PROMO CODE : E04613

THANKS

Class Time :- 9:00 AM



http://www.mahendras.org/

